Wi AEIBRA
EH 22110. ) is
127y Y — e
- Rk b1
[t bl | b
AVNG N BAT i B e
R—IL KRR =~ - —- | ;
- Y ane
= |
/ /Eih_j,
~ I-| |
N = Oy +vyk
e | |d1 22120.0114-.0120 ( A7 1 =)L)
w q 22120.0514-.0520 ( A7V L A )
2 {
ME:
Atk o AT 1)L, BF Oy - E>2: e XAF14—JL, iilh /7. ePAB, E(D¥HL)
e 27> L A 1.4305 ® 257 L A 1.4305 o PRI TAIAE
(SUS30348% ) (suogj’,l?iifﬁi )«
= v
B*E:
4 2FY I AR,

/7 %5 EHUTOEREEY, /YTFILLYEVHEI2RAALREBICEETERT,

A=) REBNHEEL TAETERREUTY. XROHOBRTREFTHI2NTELICRLUADET,
ERRE#HEE - 304 5 +80°C

Ov 2. +YKEBEIEY T,

TAREU A AT — (EH22120.) 2> TR URAKRE OREN TEXR T,

d, NESINIE S
HRRES HNEES 0,02 |, F4 Fs
R AT LRE -0,04 min. do ds Iy 1, ZTEIE N N
22110.0123 22110.0223 4 4 M 8x1 16 35 16 5 10 45 12.0
22110.0124 22110.0224 4 6 M 8x1 16 35 16 5 10 4.0 12.5
22110.0126 22110.0226 5 5 M 10x1 19 40 18 6 12 5.0 15.0
22110.0127 22110.0227 5 8 M 10x1 19 40 18 6 12 5.0 18.0
22110.0129 22110.0229 6 6 M12x15 23 48 22 6 14 6.5 19.0
22110.0130 22110.0230 6 9 M12x15 23 48 22 6 14 6.0 250
22110.0132 22110.0232 8 8 M16x15 28 58 26 8 17 85  26.0
22110.0133 22110.0233 8 12 M16x15 28 58 26 8 17 85 280
22110.0135 22110.0235 10 12 M 16x15 28 58 26 8 17 95 380
22110.0136 22110.0236 12 15 M 20x15 28 67 33 10 22 115  40.0
MRES HNRAES
] AT L AE s do
22120.0114 22120.0514 Oy 2. +v KS08675 M 8x1,0
22120.0115 22120.0515 ( DIN439 ) M 10x 1,0
22120.0116 22120.0516 M 12x 1,5
22120.0118 22120.0518 M 16 x 1,5
22120.0120 22120.0520 M 20 x 1,5

* BEETHY R E

<NHALDER

NORM+TECHNIK

50 www.halder.com

12
12
20
20
31
33
65
68
69
125

27
572
7.4
18.0
32.0





